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TET Paper 1
Part I - CHILD DEVELOPMENT AND PEDAGOGY

GwbHm Gubur@ LHBEID SHLUSH0

1. ‘Mnemonics’ 6I6iLig © 1L 6 QHTLTLEDL WG]
a. HGwmevfwim b. Heveey c. @QHaCarens  d- 1B
‘Mnemonics’ is related to
a. Pneumonia  b. Memory c. Anaemia d. Amnesia

2. Deiedmul @600 (G HENSHHNTL DM  (LpSBILILTEEHES Geusmioul eyl

a. [plewTenrnsle) b. siementd C. BeVOeOTIpSHHID d.  SiEitieuld
In the present situation, the children must possess an important factor of
a. intelligence  b. personality c. moral value d. experience.

3. ‘gl Lmefld GUoll U@heud eTeiml DIMPSBLILIHD LI(heUlD

a. GWHMSL L[HaID b. WeiteneniLiHeud

C. G LI(HEULD d. pESHBTOIWISI LI[HGULD

‘Gang age period’ is

a. Infancy b. Childhood c. Adolescence d. Middle age.
4. eignagmsen LfueuflLib seml&Fssd BmID WOSbHEH STeILILIBLD.

a. ufley b. e c. 2 Levauedemio d. ioerauellento

Adventurers have more braveness and
a. sympathy b. love c. physical strength ~ d. mental strength.
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5. welg eTbleupFHulledr GeualliLTh SpHBTamid auflenguled SiewUD 6T60T LDSHBH6D
H(HRHISMT.
a. Qgwed — o _ewite] — SNfley
b. omfle) —> G — 2 | aludbsid
C. 9Ny — 2 Wity — 2 L elwdhsld
d. werGeupsFd — o _ewite] — Sifiey
McDougall says that the emotional expressions of human being occur in which
of the following sequence?
a. Action — Affection — Cognition
b. Cognition — Environment — Conation
c. Cognition — Affection — Conation
d. Emotion — Affection — Cognition

6. HUUHD FABHIHUBNB GHLHMBBEHHEG 6UPHIS LOIH @D SHLTLIL (HeTendl 6163
.M. FeLl 60 LgsLemiuBSHHUIS).
a. 1969, eydbadr. 15 b. 1969, griyed 20
c. 1959, egeremev 16 d. 1959, meubLit 20
“It is the duty of mankind to give thebest to the children” < UNO proclaimed
it on
a. 1969, August 15 b. 1969, April 20
c. 1959, June 16 d. 1959, November 20.

7. &I55 BGID 06T 261 SHmIG6T60 (Lpelelensol IUGHSUML. GauemTiguimel
a. uMpSmaUleT gBmISOHTeTENHImIgUl THTOMMBUWITET LI
b. ampsemasuier gBpIboETeTendamigul GHTeNBUITE LG
C. aumpsbenduilest GBITDEmM, 6THTOMMBUITET LI
d. aumpsenasuie wADFAWLBB LGS
Print media and electronic media must project
a. acceptable negative side of life
b. acceptable positive side of life
c. positive and negative sides of life
d. seamy side of life

8. g fflwit asmeHIOUTIH6 (PBMU BI9HHlg LILIGTUBSHSHIMIHET (LP6OLD
a. 9IHDHHIH M6 b. miewiewiniay C. L6veitabml & d. Peweney
With the frequent use of brain storming method the teacher develops
a. creativity b. intelligence  c. perception d. memory
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FHpemuieyF FhoHmenenuld SHIewiHoud

a. (lpedt epemerm b, auevgl cemem C. L& cemermr  d. LNedt eLpemer

Critical thinking is induced by

a. fore brain b. right brain c. left brain d. hind brain

MFNYHEND 6TOTMILD SYBIBHVF CFTeLe6T CILIT(HEIT
a. ueLBeuml CuT(mHeTHMETL LIf&HSH60

b. weBaumI QUITHETEHEMEIT G (HHIE 6NN H 60

c. QumpLsemen QLILN[BHSH60

d. uebBauml OUTIHL BENENT GUIQYAINHLDHFH6D

The word “synatics” means

a. segregating different things

b. organising different things

c. comparing things

d. designing different things

SNBSS LIBHEB@GID HDFFUD Lweid alenendain aemnHUled 616060T
Blemeuselend CUTHSSLILTHL 6T 6l UIeOLIBEIS]

a. GDbHenev FiMbhHSI b. “ibeupevld - FibHE!

C. DR ILTEIEDID FTTHHS] d. QuTHEMTHMID FTTHHH

Adjusting in all stages and making happiness and usefulness to self and others
is

a. based on environment b. based on mental health
c. based on attitude d. based on economy
HOUMSHH T 2MFUTHLD HTMOUTGT BTV 616

a. 5 - 20 alemgasei b. 10 - 15 alemgssar

C. 3 - 25 alemgsel d. 7 - 10 elermgsmer
Period of fluctuation of attention is

a.5 - 20 seconds b. 10 - 15 seconds

c. 3 - 25 seconds d. 7 - 10 seconds

SQ3R (pewmuimed GbLIBHSLILIBISI

a. &HeUeTd b. BT LD C. 2a&HHID d. Meneey
SQ3R method enhances

a. attention b. aptitude c. motivation d. memory
BeIm HEIBH6T SHlPeDID, BTN LOBIBTEHHE, (WPHMSHUI &ILPEHLD

Bg 6hdH aumd BFTHenen?



15.

16.

17.

18.

a. Qural 9y b. ylba OsTeeEnsHed

C. Henlld UIa] d. GarBsenehduwib

Today is Monday, the day before after tomorrow will be
What type of test is this?

a. General knowledge b. Understanding

c. Mathematical research ~ d. Vocabulary

QUUITT GH(D 6Tl epeuld  gMUBH MBS
a. oM + S BUUTLTET GylD6L

b. GQuBGBIT + HSBHATOTET GlD60

C. gepsd + &L (BULTLTEN GylD60L

d. e@Tumymoed + HSHHATIOTET @nlD60

Peer group is formed by

a. Teacher + Controlled environment

b. Parents + Independent environment

c. Society + Controlled environment

d. Unexpected + Independent environment

SBMEL GLO6J60 SD 2 eilemeummien &ifluwimer eufleng 61%!?

a. HATHFF — FHaueild — Hlevaia]

b. Pewara — sauand — HauTFH

C. HURND — HaUTFF — DHlenerey

d. Peveria — &auTFF — BHeued

Which of the following is the correct sequence in learning environment?
a. Interest — Attention — Memory

b. Memory — Attention — Interest

c. Attention — Interest — Memory

d. Memory — Interest — Attention

Blemeoulled GHLHEMHHENTL H(HHHHHMET 2 (HaUThs EQUIGILD
a. GuausBE (WeILTs b. Gus eybligsHa| e
c. UelTementl Li[heudae0 d. detementt LHEUSHBSLI LT
Children are capable of forming concepts
a. before verbalisation b. soon after verbalisation
c. during childhood d. after childhood
UeTFF e FMT OFUIOH6T 6IIB HHHMD (WHeT (PFHeded LILIGTLIHES S WeUT

a. Gemfrum” b. yemeurt C. aM6L d. emrelsmerdr
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The concept of developmental task was first used by
a. Herbart b. Bruner c. Hull d. Havighurst

6T6LGVT  LOTETEUTHEHHGID BT oTglflwimen GFuedBemend OBTHHSHTEID DIGUTH6IT
CouaiBGouml alsonsll Lfihg OHTeTeudBE&HS HFeILD

a. umeleIid b. sBmed GHoBUTH C. S@ILIAILD d. w.

Because of the students understand in different ways though they are
given same type of activities.

a. gender b. learning disability c. experience d. heredity
RTE eemugen alfleurdasid

a. Right of children to free and compulsory education
b. Right to teacher education

c. Right of children to education

d. Right towards education.

Expansion of RTE is

a. Right of children to free and compulsory education
b. Right to teacher education

c. Right of children to education

d. Right towards education.

sMTurenasl Gy, s SiglweuBpslien euenTélnd AIBBHMSH QUOEIGHLIBHHIHIMS
a. Beiraevlen b.  emaiyme e C. Sy fesrevleor d. eyerdl e
Hormone which regulates the carbohydrate and protein metabolism is

a. Insulin b. Thyroxine c. Adrenaline  d. Oxytocine
‘OIfuT @ aleVEIE Dlev6V  6I6HTLIG

a. GmBUL OUITZHIMLOLILINL &FH6D b. enasuL QUITSHIMIOLILIENL &&H60

C. SHMJeIm HBLIGHH6D d. semLwmenm HTaEmIgHe0

‘Amoeba is not an animal’, it is

a. restricted generalisation b. extended generalisation

c. rationalisation d. identification

Nwn@xmaller &HBHSILILG HTeneT MOWIDTHES FhHHGID HTenD ST ILIBHLD
LI(H6ULD

a. Levell BuISELI LI(HEULD

b. werF QFweoLT BHEG (WPHMBUI LIHEULD

C. BMIGLIHL LUTTUILUMSHS OBmeni(hy FbhHeEGD LbHeud
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25.

26.
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28.

d. we»pwirer WweTFGQFWeOUT B LI(HeILD
According to Piaget, Egocentrism occurs in

a. sensory motor stage b. pre-operational stage

c. concrete operational stage d. formal operational stage.
T @6l BB Sy

a. Ggal GeBUTH b. dled

C. QumBTeLD d. ®eauemev

Reason for auditory hallucination is

a. auditory defect b. anger

c. jealous d. worry

SHTIDE|  LDESTLILITEI6MLO Crrenwl gBUBHHIUSHED (PSHBWIL LURIEG 6UDHSHHBSHI
a. LEOHILDT b. Gzmev@Hmul c. pidley Gmmur d. apl Beusl
Inferiority complex plays a vital role in causing the disease

a. Asthma b. Skin disease ¢. Diabetes d. Joint pain

GLHMBHHNH FTHMEIENW! LITITL (HHeD DI6L6VHI _GHeNBBISHED 6TalaUTH
UTHHBHInBID 6T6iTlH UBMSIS FnpsluleuiT

a. AmTeVTd b. &meOL 6T C. 1uiirgest d. o (a0
‘Praising or criticising affects the'sticcess of the child’ is said by

a. Hurlock b. Galton c. Pearson d. Woods
AUGLILTG0 HEITEITED (LPIQUD 6160 DIemeiTdhFHI Couenevdemenuld gmmIF Uizl Lo&IDLeT
a. Gumiiguimed smLeuT b. uBRGsBMIG SHHBLCT

C. BMeNIHEH BHBLIGUT d. swiworss SBLeT

Who enjoys in doing all the works in the classroom voluntarily is
a. competitive learner b. participatory learner

c. pair learner d. individual learner

SBBeL aiH =

aBmev CaiT & Fuler lerey
s BIH CHTeoumsm G 1B b O\dment L GHyLD

b SM M UTLL QUITHET D66y
aBmsH CHToumm @& 1B Hid Obment L CHyLD

a.




29.

30.

31.

c B mev CaiT & Flulent lemey

umLL1 QUT(HeT Sl6rey
d &B B UTLL QUIHeT Sieey
. BHMEVSH HL_ L 616y

Rate of leaning =
A Amount of learning proficiency achievement

Time taken to achieve the amount of learning
Amount of content learnt
Time taken to achieve the amount of learning

B.

C Amount of learning proficiency achieved
Amount of the content
Amount of the content learnt
Amount of the curriculum

uuipd oeflasiul L auenTiyl yprenel Sl Caraled CaiLgmiseisd aubl
® aMmHbD STBL UBTeEsamnen SPBRISF CFuls LilgdHsHe0

a. (Ppweipl SHeaupld  SHB|eD b. o Bm Crrédd SmMmeL

C. QFweLB SHH HEELUBIHHLD A, @b Bl 60U B3I FHLD

By employing domesticated andrtrained pigeongbringing down the wild
pigeons sitting on temple towers is

a. Trial and error learning b. Observation learning
c. Operant conditioning d. Classical conditioning
SHIDFS HITH HITEWIL 6D OMBOUSMBEG HIVHIBHED HTJ6OIOTS SHLLNET DI
a. GrflenL eugdieyL L LD b wenmsHe0
C. aiAflenL  augIayL L LD d. sewi_emer
If a response is responsible for the extinction of unpleasant stimuli, it is
a. positive reinforcement b. extinction
c. negative reinforcement d. punishment
TAMIL
GrmuisE@ WHbHH SevHSWID 6Teiml FapluleulT

a. SHEN6VEUT 6T b. waralsgeurer el f &ibHyemit
C. saienf d. unpgaraer
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38.

39.

40.

41.

42.

43.

. @ITIOTENIERET FTHTT6WT OB HTELVT SlauT Eemmeusst Hh L LG elerd dnplweuT
a. Gupm mIgOILIeL b. engaei

C. GUITTL GULDGNTL 6V6MBTL d. &nireverd

aurenfigTaer LImbhg o

a. LI b. Gasyenm C. GURIGTEITLD d. elevellwienrt
gy aigdseflen GUWTHeND D& @6IMeL6L

a. Fmevaid) b. Gumenaig C. LeteTaig) d. uremit aig)
o s BHRSEF CFUIH CETHRGHTITES ansllevT BHHSHTID, Dleueny@ul
eitellilysd Cal & GFUIH LoTaTT6s

a. SHTDED SLEVGIT 6TIQF6IT b. &miteverd

c. G.U. Gum d. QFeRTLIGyTLOCT

alas@LMwm asmymeiwmT STeneouled Hewl alNSHHHID (PHeUed LIgHEGLD HIT6D
a. emuiel b. Fmab&meir C. Fmeaurgasid d. G guuwewid
LDENEVU|LD LDEMEVF &MMiTHS G (LpLD

a. (LPELEM6V b. wmsid C. OpBU1FH60 d. @niehd
d(SHHISHere LIplien @ Lfpriy, o6 B(HeumBWTHLI LM da6e0mD
a. gellimiiy b. wwBANSpn

C. BTLMLL d. oeuremriImii]

SLOLD 6lenTaI(HEHBN6N 6I(LPHIH. 19, 25:

a. 59| b. &gme (5 C. 29 d. s

UglbEalend eleTeFulen umE@ GuUTBBSHHHHSH

a. 6U6L6VE>356u016u0T 60T b. umrygHwim

C. MJ(LPLHSI d. aggm

umbL  eleugmuiaer et

a. LIeNSBEI6s b. pewiLIe C. 2_mailees d. s@arsiyer
GWHMBHH6T WHDLFALL T S FeuTfidHaIt urTGn allenemum’ B UTL 60&61T

a. HMeUTL (B LITL 606 b. aufum’ G UM ebeelt

C. GxmPed UIML_60H6IT d. BTGB LM 60&6IT

SIBMICITT 6T63TLIGHET  OILIT(HEIT



44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

a. w2 ewie) b. Bevev o_awiey

c. & BF8amy d. semds o awiey

STFMar algeuunyg s&e0enr] LOTHIEVSHH60 2 _6iTen)

a. GMUTSH b. Gub@eukisTentd

C. S6r0610MLD d. Senir

ueitegeni® U HGeoGur omGumT, FevlbLD, eumell ai&Fg eTer
QAlTHHMEVBHM6NOIUI6VTID SMBMISH CHTHH(hHHSH &Fmieuest

a. umemngw OBGEHCFHWI6T b. 1ed&B8%Heuei

C. aiyLILITeUoTIoUI6H d. @wweuyibLiest

Hehemgll Guilw Gasmuled GLIPWSHSG HewL CUBm oyemiB

a. &1, 1010 b. &.9. 1500

c. &l 1020 d. &.d. 2000

QUIT(HET FnmIH: GH6nal

a. gl LID b. @aiwed C. (GLDLIGD d. Ganiisal
[ B6uT(BEH6M60 LILDEMIOWITEISH 6157

a. Gapbgen Fleursyld b. DewIL60 LB

C. QBHITH d. saysynd

S¥lalwed HmELFOFTED 6N EhdWID SLe0iB OleuamuiL L L g
a. 1993 b. 1991 c. 1990 d. 1992
SRIFCeowen] 6IHTHH PUISD GHHI CuIFTUl (LpG&H6e0T OILIEUETLDEwT
a. Geugbrg it b. ©iehFemevwibioTelT

C. IS HLDIOTGIT d. emaup. CaTendHBTUIS SIDLDTEIT
GleUeTAUTED DT &0

a. O@mmEIGLD b. o mrigD Cc. &b d. &mpseid

Camgl L. B Hma HIILILS:

sallen] Chdle albTwsD LleTamer QuiBml HIT6eD
a. umewniguie LM b. umiur ur’ @
Cc. ®bu alend@ d. 2 _Tsuwmb LIm_eOa&e6iT

IIRSHITENT OBHTL(H 61(SHHELTSH 6WLD
a. QupeLD b. GQumuientp C. SITUIENLD d. o ewienio



54. GTIIEILD [BHITEVI6L OFHTHIEATMMI Q6L CUMSWITE LSHHeier OILIUITHENT

Bmboe.

a. (pevenevlIm (B b. @Blehdum (B

C. UL 19eTILIT6n6D d. uFBBIILSS
55. LB6D6USHEN6T auensWITHL Lfléseumd

a. Wb b. omi C. elpedtml d. e
56. HGsugheuid 613 GFTeLET CUIT(HEI

a. 2_ewie)] b. opiImener 2 _awia]

C. [F6L ©_6WIaY] d. uenLwipgl

57. B6bLD GIGILIGHE  OILIT(HGIT

a. GFeveuld b. Qumes C. 6w d. wsa
58. 1omeu @IQQUILD 6TETEMID [HTL &LD GTEID BeVSHHUIHMSH DIQUILIHL UITEHSD
OB TewTL G
a. ST [HIBLUS b. semeufl BIBLIG)
C. SIBHTEDMNDI d. ysBTE@ID
59. 0D BIL&BSH HhHewd 6I6Im DeiFeieyLd @ oD GUFAAS 616mIHIGLIGIT
a. LIDLDGY  FLOLIHSE0TTiT b. (L BHCHmL enit
C. FRIBTHTEF GHEUTLOSH6IT d. Os.0ur. @magewtaTd

60. 1l 1H6MesT @enmenlo WL CQUWT TBHFHI 6IIHIS.
DML LL6hTr, GUTeNLD
a. b. smul C. BEFFO d. ewps

PART III - LANGUAGE PAPER ENGLISH - 2012 ORIGINAL

61.Find the italicized part in the sentence that is incorrect:

in Eur re allow ivi
urope teachers are allowed giving

In some Counties in children some home

at weekends
work only ——————

a.1 b.2 c.3 d. 4



62. Choose the correct form of the verb to complete the sentence:

When this morning?
a. did you woke up b. did you wake up
c. have you woken up d. were you woke up

63.Choose the correct answer form of the verb to complete the sentence:

We volleyball yesterday
a. played b. have played
c. had played d. have been playing
64. Choose the correct word to complete the sentence:
There is very petrol in the year. I'll buy some when I go out.
a. few b. much c. a little d. little

65. Choose the correct word to complete the sentence:

He apologized being late
a. to b. for c. on d. of

Read the passage given below and choo8e the'best answer for each of the
questions

Most human beings are awake during, the,day and sleep at night. Owls
live the opposite way. Owls are nocturnal. This means that they sleep all day
and stay awake at night. Because owls are nocturnal, this means they must eat
at night. But finding food in the dark is difficult. To help them, they have a
special eyes and ears.

Owls have very large eyes. These eyes absorb more light than normal.
Since there is little light during the night. It is helpful to be able to absorb more
of it. This helps owls find food in the dark

Owls also have very good hearing. Even when owls are in the trees, they
can hear small animals moving in the grass below. This helps owls catch their
prey even when it is very dark.

Like owls, mice are also nocturnal animals. Mice have an excellent sense
of smell. This helps them find food in the dark.



Being nocturnal helps mice to hide from many different animals that
want to eat them. Most of the birds, snacks and lizards that like to eat mice
sleep at night - except, of course, owls!

66.The word “diurnal’ is the opposite of the word ‘nocturnal’. Using information
in the passage, we can understand that an animal that is “diurnal’
a. sleeps at night and is awake during the day
b. hunts during the day and is awake at night
c. sleeps every other night and is awake during the day
d. hunts at night and sleeps during the day

67. Based on information in Paragraph 2, it can be understood that an animal with

small eyes
a. must b4e diurnal b. has trouble seeing in the dark
c. can see very well at night d. must be nocturnal

68. According to the passage, owls can find food in the dark using their sense of
a. sight only b. sight and sound
c. sight, sound and smell d. sight and smell

69.In paragraph 3 the author writesy“Thisshelps owls'catch their prey even when
it is very dark”. What is prey?
a. anoise that an animal makes during the night
b. A small animal such as a pet dog or cat
c. An animal that is hunted by other animals
d. An enemy

70. According to the passage, mice sleep during the day in order to
a. find food that other animal cannot
b. keep themselves safe
c. store energy for night time activities
d. stay awake at night

71. Using the information in the last paragraph, itcan be understood that
a. owls hunt mice
b. mice can hide from owls



c. mice and owls both hide from birds, snakes and lizards
d. owls sleep at night

72. Which of the following conclusions would work best at the end of this
passage?
a. The owl is a nocturnal animal. This means it is active at night. The owl’s
excellent sense of sight and sound enables it to find food in the dark.
b. Mice are nocturnal animals. This means they are active at night. Similar
to the owl. Mice use their excellent sense of smell to find food in the dark
c. Some animals are nocturnal. This means they are active at night. the
owl and the mouse are good examples of animals but the use their
senses to find food in the dark
d. The owl and the mouse sleep during the day and stay awake at night

73.Choose the right question to get italicized part as the answer
The Children are sitting in the garden
a. Where do children sit?
b. Where have the children been sitting?
c. Where are the children sitting?
d. Where are they sitting?

74.Find out the pronounced differently from the others

I. blood
II. moon
III. soon
IV. mood
a.l b. 11 c. III d. 1V

75.Find the word that is pronounced differently from the others
I. bear

II. dare
III. fare
IV. dear
a.l b. II c. 111 d. IV

76.Find the word that is pronounced differently from the others
I. enjoyed



II.  jumped

HI.  died
IV. filled
a.l b. II c. III d. 1V

77 .Find the italicized part in the sentence that is incorrect
It is a well idea to encourage boys to learn to cook
1 2 3 4
a.1 b. 2 c.3 d. 4

78.Choose the word which has almost the same meaning as the italicized one
I help them to assemble the different parts

a. manufacture b. store c. check d. fit

79.Choose the correct antonym for the italicized word
Travelling is considered very dangerous
a. harmful b. peaceful ¢, safe d. exciting

80.Choose the correct antonym for the italicized word
This is a common thing
a. strange b. funny ¢. real d. special

81.Read the short conservation given below. Identify the language function in the
italicized sentence

Shrimathy : That remark was uncalled for
Venu : I'm Sorry. I shouldn’t have said it
a. apologizing b. wishing c. blaming d. forgiving

82.Read the short conservation given below. Identify the language function in the
italicized sentence

Arun ; What shall we do this weekend?
Sheela : Why don’t we go on a picnic?
a. welcoming  b. inviting c. suggesting  d. advising

83.Choose the correct question tag
Mary has answered all the questions ................. ?
a. doen’t she b. didn’t she c. wasn’t she d. hasn’t she



84.Choose the correct question tag
Hanif wasn’t listening ............. ?
a. was he b. has he c. did he d. isn’t he

85.Choose the right question to get the italicized part as the answer
Hari is writing a letter
a. What does Hari write? b. What is Hari writing?
c. Who is writing a letter? d. What is Hari doing?

86.Choose the correct word to complete the sentence
We are satisfied ........... our son’s progress this term
a. for b. on c. about d. with

87.Which of the following is a form of the verb “be’?
a. may b.am c. can d. will

88.The passive form of the sentence ‘The Blue team won the game” is
a. The game is won by the blue team
b. The game has been won by the blue téam
c. The game had been won by the blue team
d. the game was won by the blue,team

89.The reported form of the question Renu said to me, “Is the movie interesting ?’
is
a. Renu asked me if the movie was interesting
b. Renu asked me if the movie has been interesting
c. Renu asked me if the movie is interesting
d. Renu asked me if the movie had been interesting

90.Choose the word which has almost the same meaning as the italicized one
She seldom goes to conference
a. nearly b. rarely c. slightly d. incredibly



PART IV
ugs — IV

MATHEMATICS
60T LD

9.1 GefTansemiOuguisr WBa 9% alpumer eufl eaisb elBuener eufl m.1,170
GTN60 DIH6T DI HHA 6160

a. 5.10,530 b. ¢m5.12,960 C. ¢h.13,000 d. ¢5.20,000

The sales tax on a refrigerator at the rate of 9% is Rs.1,170, then the actual sale
price is

a. Rs.10,530 b. Rs.12,960 ¢. Rs.13,000 d. Rs.20,000

2. grweler  HBOUTMHUW QUG — SQIHDLW  HhHeaoduleT  audHed  LUTHWTGLD.
UFHOHEH W BHEHHEG (P SHHewHUleT STearEH  Jrpaler euuenSHIIGLITeD
(PLOWLMISTE QHHHSHI 61160 lalTseler SBOUTHHW auuI
a.42, 84 b. 24, 84 c. 40, 80 d. 24, 48
Ramu is now half as old as his father. Fifteen years ago the father’s age was
three times as old as Ramu. Then their present ages are
a. 42,84 b. 24, 84 c. 40, 80 d. 24, 48

Note: Given Options are wrong; Corregt Answer is: 30, 60

93.weroeufl  @eCeuT(H  THSH  HWSEBSHBHID | 5350 | m QT  lEHFBHIH0 6
MBHBEHHG CFNHH  UbSTeT, (Palled DleuelT 532,865 OUBBT6T. ML HF
aUlg &iFHLD
a. 6% b. 10% c. 15% d. 8%

Easwari deposited Rs.350 per month for 6 years in a recurring deposit account
in a post office. If she received Rs.32,865, then the rate of interest is

a. 6% b. 10% c. 15% d. 8%

MU.om o mmenulsT b LBBID 2 wrsHear aldxmbd 5 : 7. Goed SHISHET D6
Olena] 4400 &5.605.15 eleied SlelaHemenuiled STID
a. 10 Q.16 b. 25 Qs.6 c. 15 Qz.8 d. 20 G5.5
The radius and height of a cylinder are in the ration 5 : 7. If its volume is 440
cu. cm then the radius of the cylinder is
a.10 cm b. 25 cm c.15cm d.20 cm



9521 Q15 uss SemaywLw ABCD ea&m  gagsdHer Bosdioul L uggHuier
ULILI6N6)

a. 140 Q&.152 b. 256 Q&.2 C. 252 Q.12 d. 272 Qg.5?

Find the area of the shaded portions in the figure, where ABCD is a square of

side 21 cm.
a. 140 cm?2 b. 256 cm? c. 252 cm? d. 272 cm?

9%.9m WHCsmamisdlen cpety  BHTemimibeNeT BHFID CalgHeT FhHHGWD  LeiTer
SID(LP BT 6w018> 3 60T
a. &Mm e LEWIDUILD b. GemGsM B LoD
C. BBHHCHT(H ewLowilD d. o el L emwowid
The three angle bisectors of a triangle are concurrent and the point of
concurrence is called the
a. circumcentre b. orthocenter
c. centroid d. incentre

97.11, 12 @ SYIRIBETHS OCETewiL &(H QI LBIGE6T 2 L LBns OHTHIOT6ENTed el L
MIUIMIBEHHEG Bl Cul o e6fTem SHMILOTEISHI FLOLDT 60T
a.ri+r b. 2rq c. 2r; d.ri-r
If two circles of radii r1 and r> touch internally, the distance between their
centres is equal to
a.r;+r; b. 2r; c.2rp d.ri-nr

98.A, B, C eamuaitaer @@ Gaienevenul (pedmpGui 12, 15, 20 BT &6Med (LPQLILITTHET.
Bubepaurid Cabal @b Cauemev GFUIsHerT. et B alevd alpdmrt eefsv A, C
Bmaurmd g (el Gauemevenul (PI9HdH 61HHEGHD BT H6IT 6183606017
a. 8 [BIL&6 b. 7 B _sei C. 9 BT el d. 6 BT el



A, B and C can do a work in 12, 15 and 20 days respectively. They all work for
one day. Then B leaves the group. In how many days will A and C complete
the rest of the work?

a. 8 days b. 7 days c. 9 days d. 6 days

9.9m gleusdder ugiy 3332 QF.152 LBBID HHET @ LUSE Sene] 8§ 6F.1f.
® Wy 5.6 GF.15 eefled BOBIH LSS Dl6Ta]
a. 11.9 @Qg.185 b. 39 Qg.8 c. 8.9 Q.6 d. 59 Q.6
Area of a trapezium is 33.32 cm?. Its one side is 8 cm and height 5.6 cm, then
the another side is
a.11.9 cm b.3.9 cm c.89cm d.5.9 cm

100. 17,15, 9, 13, 24, 7, 12, 21, 10, 24 e UeiTel elleugmidseier (psd  LOBBID
BemLHlenevwlena] HewiB Deumplest Fymafl &L
a. 21 b. 24 c.19 d. 14
The mean of the mode and median of the following data
17,15,9,13,24,7,12, 21, 10, 24
1S
a.21 b. 24 c. 19 d. 14

101. X-1Y =6 xy=4 aeied x3 518 GruDgI

a.272 b. - 288 c. 248 d. 288
If x - y = 6 and xy = 4 then the value of x° - 17 is
a.272 b. - 288 c. 248 d. 288

102. X3 -3x2 - x + 3 ea@im v CaTemeuulesr @@ smyewi (x + 1) eefled
SIFHET OBM BT 600N H6NT
a.(x-1), (x-3) b.(x-1), (x+2)
c.(x+1)(x+3) d.(x+1), (x-3)
If one of the factors of the expression x3 — 3x2 - x + 3 is (x + 1), then the other
factors are
a.(x-1), (x-3) b.(x-1), (x+2)
c.(x+1)(x+3) d (x+1), (x-3)

103. Bm elewideT 5 : 3 ey alFHHHe0 o siener. Seupplesr Ceupur® 18
6TaN60 61101616 6IT
a. 42,57 b. 54,72 c. 45,27 d. 47,52



Two numbers are in the ratio 5 : 3. If they differ by 18, then what are the
numbers?

a.42,57 b. 54,72 c. 45,27 d. 47,52
104. 3a2bc, 5 ab? ¢, 7 abc? &1 18.0UM.D eI6TLIG
a. 35 a2 be? b. 105 a2 b2 ¢2
c. 15 a2 b2¢? d. 105 abc
The LCM of 3a2 be, 5 ab? ¢, 7 abc?is
a. 35 a2 be? b. 105 a2b?2 ¢2?
c. 15 a2 b2 ¢? d. 105 abc
105. 11 Guenmdsefler oI_dsalemev 10 CueaTdhseller alBm alenevdE FIDID 6160760
®eoml FHAIHID
a.10% b. 100% c. 11% d.21%

The cost price of 11 pens is equal to the selling price of 10 pens. The profit per
cent is
a.10% b. 100% c. 11% d.21%

106. Sy eIl L algailevrer UmisTaleaT D 14 5 @ WBLLHBSS b 8 aisb
9HB& FBBICaIY DIMDHE SHLGHID OFevey
a. ap.576 b. 5.657 C. B 156 d. em.765
A park is in the shape of semicifcle with radius14 m. The cost of fencing it at
the cost of Rs.8 per metre is
a. Rs.576 b. Rs.657 c. Rs.756 d. Rs.765

107. TG  .5,000 2 wiB Sy eeflw el  aipHHed  meulIHHWwITS
CFVISHFMT. 615HHEM aU(HLMIH6Me0 5.5,800 & SiauT OLIBIEUTT?
a. 3 eU@HLRIB6I60 b. 2 eumLRIBeie0
C. 4 QU(HLBIB6IT6D d. 5 eu@pLmiseieD
Rahul invested Rs.5,000 at the rate of 8% simple interest per annum. He
received Rs.5,800 after some years. The number of years is
a. 3 years b. 2 years c. 4 years d. 5 years

108. 100 orewialTHeier AIGCLTISeT FImaf 40 616yl HewlbdSL LUl L &l N6
53 e1eiiB  &HIIGUeDT 83 eaIB HUBIGHOTS IBSHEILILL S OFTweubsgl. afluimer
HIGUeTISEmens Osmeni(hy giwmer Fyrafl

a. 39.7 b.37.9 c.29.7 d. 279



The mean mark of 100 students was found to be 40. Later on, it was found that
a score of 53 was misread as 83. The correct mean corresponding to the correct
score is

a. 39.7 b.37.9 c.29.7 d. 27.9

109. 5 otewiderienr FymFfl 32, SleubalewIEaied @eaTenm HeGHBUTH Fyrafuns 4
GOMBHSTEL HHBUILIL L 61601
a. 84 b. 42 c. 48 d. 24

The mean of the 5 numbers is 32. If one of the numbers is excluded, then the
mean is reduced by 4. The excluded number is
a. 84 b. 42 c. 48 d. 24

110. Ogeleusd augeupeien @ GCHTLLSHer Seneyser 30 15 x 20 6.
CaxmLsmasd ampB  OGeuelliyBsHgHed 1.5 15 BH0SHH60 @@ FITer  LTMSH
FHTOL L (HHG H.6 aiHD DMDEBILIBHBSHI 6160160 DIH6 GIOTHSH 6F6ve)]

a. om.495 b. .754 C. ¢5.854 d. ep.954

A garden is in the form of a rectangle of dimension 30 m x 20 m. A path of
width 1.5 m is laid all around the garden on the outside at the rate of Rs.6 per
sq.m. What is the total expense?

a. Rs.495 b. Rs.754 c. Rs. 854 d. Rs. 954

111. F(hBGH: 2340 +33/625 - 43320

a. 1632 b. 533 c. 335 d. 334
simplify: 2.3/40 +3.3/625 - 4.3/320
a. 1632 b. 533 c. 335 d. 394

112. R el LHHe0 Letell A 0 euengwiiupd Gas1HGsTG DE, AB aul L g6
mrewl Gueid /BAC =65° wmmib ~BAE =58°61aim3l  Sjenouiomml Ul L GaHlest  GLoed
o eiten Leiell C eteollod ZABC &1 DAL

C B

a. 180° b.90° ¢ 57° d. 123°



113. 42 Q.15 SuupeTen @@ el LSHHedHbEH 240° OWISGHTENID OCBTERIL  ¢(H
Al L&CasmenriuGdHemwl  Oeully 6IBHIH, DISH IEIGMET  QRAWBMEWIHDH @
FnlDLITSHBHIDNTE0 BHleMLSGHID FnlDLI6GT QUEMGTLITLIL]

a. 4624 Q.52 b. 3696 Q&.152

C. 6369 OQF.152 d. 6639 G&.52

A sector containing an angle of 240° is cut off from a circle of radius 42 cm and
folded into a cone, then the curved surface area of the cone is

a. 4624 cm? b. 3696 cm?

c. 6369 cm? d. 6639 cm?

114. 8 oemider @ Geuemevenw! HTOEMTEIBISEG 9 wewl GBI GCouenev OFUIH 28
BT seMe0 (Ut S8 Geouemevenws 12 oewiser HTOeMTEIBISEG 7 wewll GBI
BGouemev CFUIHT6V, 61dHHeme HTL Heifled DielGauemevenUl (LPIQLILIT?

a. 20 BIL &6 b. 18 B sei

C. 28 [BTL &6l d. 24 B ser

Eight men working 9 hours a day can do a piece of work in 28 days. In how
many days will 12 men working for 7 hours a day do the same work?

a. 20 days b. 18 days c. 28 days d. 24 days

115. 100 slenemausefled OSIGUTAW & 3.84 FH.& BBID DeupPear aiFs 2.46
&H.F. elaled el Dleenaudberiled WFHAM OFH LI
a. 1.38 &.a b. 3.38 &.&) cl 238 ‘3.8 d. 630 &.&8

The largest of 100 measurements,is'3:84 kg. If the range is 2.46 kg, then the
smallest measurement is
a.1.38 kg b. 3.38 kg c.2.38 kg d. 6.30 kg

116. R WPHCaTeamisHlent cpaiiy CaTemmiseller aldgmser 2 : 4 : 6 eleled
igaT CaHTeml 61661
a. 30°, 60°, 90° b. 20°, 70°, 90° c. 40°,60°,80°  d.26°, 58°, 96°
The measures of the angles of a triangle are in the ratio 2 : 4 : 6, then the angles

of the triangle are
a. 30°, 60°, 90° b. 20°, 70°, 90° c.40°,60°,80°  d. 26° 58°, 96°

117. X = 2++/3 aTafla0 xz—%m DL
a. 14 b. 83 C. 43 d.0



If x=2++/3, then the value of x? —%is
a. 14 b. 83 C. 43 d.o

118. Bm BLmsEhdHE QL BuiujeTen  GFHTemeve)] 61% HIB. @ BmH FhEJ

AUTHEID IbH OCFHTeMevemeUd SHLHS 2% el GBI  61(HHHISOBTATHBSH 6160760

Bm 557 auTsaHHer Ceusld
a. 25 &lis b. 40 &5 c. 35 &b d. 20 &8

The distance between two places is 61% km. If a two wheeler takes le hours to

cross the distance, then what is the speed of the two wheeler?

a.25 km b. 40 km c. 35 km d. 20 km
119. 1,2,5,6,14, 24, 30,120, ....... aeiy QHT_MeT DIBHDH 66w
a. 91 b. 55 c. 720 d. Baummiein e1giaevemev

The next number of the sequence
1,2,5,6,14, 24,30, 120, ........

a. 91 b. 55 c. 720 d. None of these
4. 7 5 3) 7
120. —4—=| === |x— &H@E &IDIDTET
5 2 (2 4}(8 = =
a. 12 b. 3> c. 21l d. s~
20 20 20 20
4 7 5 3) 7.
—+—+(———jx— is equal to
5 2 2 4) 8
a. 12 b. 3> o 21l d. s~
20 20 20 20

Part V - Environmental Studies

121. Marconi invented the radio with the help of the invention made by

a. Vikram A. Sarabhai b. Jagadish Chandra Bose

c. Charles Babbage d. Pascal

SpHFTamID (hHeuflar HewiBLlQllar o HalGuwim® wrTCsment GrGuimene
BRI BLIIQSHHTT

a. aléyb A. gmymumul b. Omaderd Fhdy Bumerd

C. &MTeVerd LITLITER d. umerbaed



122. Identify the wrong pair with reference to milching animals

a. Gir, Sindhi b. Jersey, Caronswiss
c. Gir, Murrah d. Sindhi, Jersey
LNeiTeu(pHd Bmened OTH Eenenidbelled Heupmer Eenewr 6157
a. &, fbd b. Ol sTyeiTerOal6eND

c. &, wpym d. Abg, Omird

123. A typical example of visual, non project 3 -D aid is

a. Realia b. Television

c. OHP d. Radio

SIamIBl, MPHST (pluflorenr o LSFaTSHHBEG TBSHHISITL(H
a. HleglilL b b. GsremevdETL &

c. GuweouL afipsa (OHP) d. GyipGuir

124. Which of the following is the odd criterion of a good test

a. Objectivity b. Acceptability

c. Reliability d. Clarity

QH HeLeL BCHiTeyd@ @6060T SHTFeIeNU DIGDLWITOTD ST,
a. UmeuuwlSH&6emLn b. emBmIS6ET6ITEHH60

C. 2_GUIGNID HESTeNLD d. etaflemin

125. The philosophy behind the project method is

a. naturalism b. idealism

c. constructivism d. Pragmatism
CFWEOSHIL L (LpemBUTleVIeTen HHFHIeILD

a. QuBens OET6Tens b. sm&Hwed BTN
C. & (HUTHGD CHT6TEnS d. uwerenemey GET6TENS

126. Melagiri hills is situated in the district of

a. Krishnagiri b. Erode c. Dindigul d. Coimbatore
Guevdfl wemev SO GEMIIILL 6hg LOTOUL L SHH60 DIenLDbHRHI6T6NGI?
a. dmagenrail b. #Gyr(

C. Hew1BdHH60 d. Gamwibydbami

127. Mamallapuram and chengalpattu are famous for which work
a. Weaving of silk b. Soap stone carving
c. Red and black pottery d. Granite carving



LOTLDGVGVLT (LD, QFMISEOLIL (HLD SDSHSTEMID HeN60H6T60 6IHMEG LISLDOLIBBeneu?
a. UL by

b. Gamiy &60 OFHIGHEGH60

C. &MUy BEpID OFHHB LTI D 6FuI%He0

d. dymemen’ QFHisE5H60

128. A student after receiving the content of a subject, is able to analyse the
content. The behavioural change belongs to the domain/s
a. cognitive and affective b. cognitive only
c. affective and psychomotor d. affective only
urLLQummemen  UfheHOSTewiL 16T DTewINST  UTL G0  UGSHSTUle|  GFuiw
Wudpal? Bbs BLES®S WMHPD GHsEn LGS
a. 9MFHeL LGS BEpID 2 emiTFd UG
b. omfised LGS 1oL BHID
C. 2 quTddl UGS BB (YwuBd g1 UGS
d. o_ewitFd LEE WL G

129. “Lesson plan is the outline of the important points of a lesson arranged in
order in which they are to be presented to the students by the teacher”. This
definition is of

a. International Dictionary of Education

b. Lester B. Stands

c. W.M. Ryburn

d. Bining and Bining

UTLSSHL LD e1aiLugl @b UTL S (Wphdlwwrer GliLysemen auflensiiubss)
LOTETRUTHEHHEG UFNWT TBHEH OFeveud (pedm’ . elaimIamuiens iefbHdl
a. 3001 2_60& YBITH b. GeverdLi B. erdLmemt erd
c. WM. emyuites d. Uerelim oiewi® Leefln

130. Which chart is used to present the growth of a family right from their
ancestors

a. Flowchart b. Tablechart

c. Treechart d. Timechart

GbU FhaHFH auenTFFulenen SleuTseaier (perGermiaeaied S mbaH GHTWlILBGHSHID
AUGMTLIL LD

a. Gure@ euemFLIL LD b. oI Leaiement euemFLILLD

C. Flemem GUeILIL LD d. &mev euemyLILLD



131. A child is suffering from bleeding gums and loosening of teeth. The names of
the disease and the vitamin that is deficient are
a. Scurvy, Vitamin C b. Haemorrhage, Vitamin K
c. Rickets, Vitamin D d. Pellagra, Vitamin Bs

Ghms®eiled gBUGL FuiBeals BIHHID ealgHe WBHID L alpHISE
SHTJeTone eneul L L6 LBBTehGems Gl

a. envaial, emeul Lifler C b. afioBrerd, emeul Lidlesr K
c. M&6sL a0, emaul Liflesr D d. GQuevevsym, eneul L ibe Bs

132. The part where cones are densely packed within the right eye is

a. sclerotic coat b. choroid coat

c. lens d. fovea

QUL HewTenlledl 6IILGHUND Fnldl] CFLH6IT DI THHWTH STewilILIBEHBHI?
a. edefGrm s o s b. Gamymuil o B

. Gl6vasTerd d. . .Gumelwrr

133. A student of IVth class placed certain things in a first aid box. Find the odd

man out
a. foreceps b. sodium chloride
c. syringe d. pair of scissors

BTISTD QUGLIL| LIQSH@&LD LDTewI6el, (pHaBHLl Gl ulled SpsTamid -CUM(HL Sener
MEUSFIGTENTEN. DFH6D HUBTIH! 6157

a. ®hsP

b. Gsmouib &Genmmeny®

C. oaidl (peOlD W([HHSH 2 L 0FISHHID HEWIeNITY (GHLO60

d. s58Ms6smed

134. The plant that has the best air purifying capacity in the world is
a. valisneria b. bamboo
c. palm d. jatropha

2 eualeuleiTenn HTauTmibelled WdHsH HMOUL SHTHBOB FHHBNEHGID HeTenLouenL Wl
SToUTLD 6157

a. eumedlerommuwim b. cpmigled
C. Lieneor d. U Gymumr

135. A man is riding a bicycle. The motion(s) observed is(are)
a. only linear motion b. only circular motion
c. oscillatory and circular motions d. linear and circular motions



Q(H LHeT mFHHeNed Faumfl GFUILD OUTIEH SPEHBTENID SuisdHD (HISH6T)

CFweLIBHBSHI(FImBent)?
a. GrTBasT (H Buishasid L (HID b. au'L udsd WL BHib
C. SIN6Ve] WBMID UL BuisbsLD d. GpTGam (B WwHEE@ID e L Suisbsid

136. The permanent employee of the village Panchayat is the
a. President of the Panchayat
b. Vice President of the Panchayat
c. senior most citizen of the Panchayat
d. Secretary of the Panchayat
SIITD  LehFTWSHH60 HIIHFHLOTE0T  LIGwi WITENIT
a. &PmD LEhFTWSHSH HEN6V6UT
b. Aymo UEhFTWSHSH! HIEHEWT HENELEUT
C. UEhFTWSHIHGN (PHSD (HQLOBH6T
d. uehsTwSHeT OFwievi

137.1f a person wants to cross the road where there is no zebra - cross, he has to
a. look to his right and cross the road
b. first look to his right, then left and then right again and cross the road
c. look to his left and cross the road
d. first look to his right, then left.and cross the road.
‘afl gy BLEGD LT E60eond GG A0 HEIT FTanevemll Sl &@EICUTEI
Bl HD Calemrguig
a. 6UeVG LSS UTTHGH FTenevedl HLdbd Geuewi(BLD
b. wsedled aueEHILGHID LMTEHS, LT L& USHD UTTHSH, DiHer e emiHLD
QUELGILIGSHID UTTHFH FTenevemwl HL5d Geuewr(hLd
C. OLLILGSD LUTTHGH FTenevend SLbs GouewiBLd
d. wseded eelILGHID UTTHG, LN L LILSHID UTTHEH FTeNeOmU Bl b
Gouemi(BLD.

138. The wheel (chakra) on our National flag has the colour and the number of
spokes respectively are
a. Navy blue, 24 b. Royal blue, 24
c. Peacock blue, 22 d. Cyan, 22
pg Cardlwsosmguisd SIBsTerT FHaETHIH0 2 6TeN BB, DIFFHHTEHH 60
® 6ol SJRIGH6NT 6T 6TewTenNbendBUD (LpenmBul
a. OILT [Heod, 24 b. grwed evid, 24
C. ulevBxHTensd Hevld, 22 d. swrer, 22



139. Bow and arrow was the emblem of which kingdom

a. Cholas b. Chalukyas

c. Cheras d. Pandyas

alleLaID, SIDLD 6lhEH DITFHML U FleTmiB6nTd al6Nmidbuig?
a. Gampiramel b. gmeEpsESWITHEN

c. Gayiamer d. umemnguiTemelt

140. The traveler who came to India through the Kashmir valley during the reign
of Harshavardhana was
a. Fa - Hien b. Hieun - Tsang c. Ibn Batuta d. Megasthenes

ABTAGT HTEVHHL SHTAULT LeTeNHSHTHG aUbwTd @hHul BT IBE b
OeueMBTL (B LIwewl

a. umamluimest b. weurenr Feumm c. @uent UFHTHBT d. GoEerdHT6rD

141. Double fertilization occurs only in

a. salamander b. fresh water fishes

c. all seed producing flowers d. aquatic plants
BArlenL HHABIHD @60 LU BHLD  BHiTewillli(RF BHI

a. FTEULDTGNIL T b. mevienfit 16wt
C. 6T6060T QIMBHHM6N 2 (HOUTHGD 1LLHSH6N d. B1$ sreugmiern

142. The importance of the year 1983.with referenceste wildlife is
a. Indian Board for wildlife was*formed
b. National wildlife Action plan was introduced
c. Wildlife Protection Act came into force
d. Establishment of National Parks by the Government of India
auere_uiflemisenet QUTBIGSEH 198310 ewiB (PSS WSHSHIUD auTUIbHSHSHI. 6JoleTeled
a. auere_ulflesr LTHISTIL eumflulld o (HeuTeg
b. Bxdw euere_ulfler QFweOEH LD SPPSIILGHSLILL L S|
c. euere_ulfler uTgISTIY FULID BHOL(PMBHGH UbHHIH
d. @pHw oaTed Caflw YRISTEH6T 2 (HeuTdalIuL L )

143. The exotic variety of honeybee is

a. Apis dorsata b. Apis florae

c. Apis indica d. Apis adamsoni
BFle0 61z GouelpTl h CHett eumH?

a. gilerd GLmitgl L b. gulerd LGermmGu

C. gLilerd BN HT d. guied oy 1bGamef



144. Which one of the following is not true in respect of water
a. Water in the aquifers is not useful to human beings
b. Most of the fresh water reaches to the ocean through rivers
c. The moisture in the soil indicates the presence of water
d. Precipitation in the form of rain or snow provides fresh water to our earth.
LNetteu(phld FmBmIHeiled, HedT UBBIW HeupTeT Famml 61&?
a. pireammIEaieeen BHT aIHIHEG LIWLGTLIBIH06mM60
b. omisefe cpeoloTd BRI LI 65T HeOHBBSHI
C. LoGWTERNG FJ&HH6IemID, BT 2 _6TeNeNd 2 _60ITHHIHBSI
d. wenpGuTfe) ©evevg LIOUTH®| ceDTH HVSHBE BT IHHML BB

145. While burning the fuels the pollutant that reacts with Hemoglobin and makes
the man leading to death is

a. SOz b Os c. CO d CH4

aflQummemenr  eflliugeir  cpeoond  GeuellulBalens OT& o6 H
BrHssHeveien afGorGGamysimiL el alerfibgd @By gBUGSBS

d. SOz b Og C. CO d CH4

146. Identify the correct match in respect of major plates and smaller plates of
pangaca respectively

a. Antarctica North America

b. South America - Africa
c. Australian - Arabian
d. Eurasia - Pacific

urriglwmeler Qufw s (o6 LBBID FABw S (BseT Fhlwrs CUTHHSU|6TETMmS
CaxpiTe:

a. SICWILMTIQ&HT - oL 96WwfeHaT
b. Ozt 9GwlsasT - nifdbst
C. 9Le&Credwim - OITLIGHSHL 6D
d. w Gy - udlbasL 6D

147. Equal day and equal night happen on which of the following days
a. March 21st, September 234 b. May 18, December 20t
c. January 14, June 16t d. June 20th, December 28th
Arejb ussud @Gr Memeoulled gMUBLD BT &HeiT
a. & 21, Qi bur 23 b. G 18, w&wbuir 20

c. Mareufl 14, ofer 16 d. sgeeir 20, 19&bUT 28



148. The trees that are found in the forests where there is 100 cm of rainfall are

a. cedar and oak b. sal and teak

c. pine and walnut d. babul and palmyra
100 G&.15 wemp GUUIUD HTHH6TNEIETET LOJHIHET?

a. dLnT BmIb @b b. gmed wBEpID CHEG,
C. GO LOBMILD GUTELHL d. uTyed BBID LG

149. The metal, first used by human beings and the Indian State where it is found
in plenty are
a. Iron, Orissa b. Copper, Andhra Pradesh

c. Iron, Madhya Pradesh d. Copper, Rajasthan

OGN HETEL (IPHSI(PHeI60 LWSTUGSHSLILL L 2 Geumsld LoBBIdD B& DIHHLOTH
® gitenn @bHFHUl LOMTHI6VLD

a. @i, @far b. Ggiby, supFHy LFGxHab

C. &b, WwHHW LNFBHFID d. GaL, ByreerdgH e

150. As per which Article, the president of India is empowered to declare financial

emergency
a. Article 352 b. Article 356
c. Article 360 d. Article 63

Bbs F153IUY, BhHul BaFHugl Hg ObmbsRUIme SIDOLGSHSD DIHBTTLD
LI6DL&H6lT?

a. yH&E 352 b. gyH51 256 C. . gr5H51 360 d. sy5: 63



